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Question Number : 1 Question Id : 7164471351 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The important criterion of a species of biparental organisms is:
2D RS 9D0TED Bocr EDVD FPBVL AVDIDN VEERO:

Options:
outbreeding

1. « EFEF?S 222507000



inbreeding

? E90E35) 2RO

homology

3w Faorod

physiology
1. x DBOTOB

Question Number : 2 Question Id : 7164471352 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who first devised the binomial system of nomenclature?
D) E6£30 ED0 AGTPAECER DTy DDLDVGETT DDTDHOD JOW?

Options:
Mendel

1. & 2ooce

Darwin

% % 5:“5550

Linnaeus

3 v &f}lojjﬁ

Mayer
A % Dooid

Question Number : 3 Question Id : 7164471353 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
According to the International Commission on Zoological Nomenclature, scientific name of an organism should be

drawn from:
Q08)T) RS EAND BN deress TILHTHE Ys°0o, 2.8 BDDE HOLIOAORN FPROD 70 IO G 2P’

eotd:

Options:



Greek
1 = 8]

Latin
7 @ OO

Roman
3 % Tood

Arabic
A o essdS

Question Number : 4 Question Id : 7164471354 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In prostomia, blastopore forms the:
T D0o1re” o0x0g Dar GoGaD @E),E I6YEB0R:

Options:
anus

1. = PO

archentron

7w 0 BoBaD

head

mouth

4 v So

Question Number : 5 Question Id : 7164471355 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



In deuterostomia, blastopore forms the:
ErgT T 0TS Do0tng Des oG QL) E IBYEBI0H:

Options:
anus

1. v SO0

mouth

7 % S

head
3 % o

thorax

4 % &Caw

Question Number : 6 Question Id : 7164471356 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Tissue level organisation is present in the phylum:
Eraaze) gucm DO 90O 308 2 HPotS” EDDRO:

Options:
protozoa

1 x Do

porifera

2 % oo

coelenterata

3 v HTotber

mesozoa

4w DoVE o



Question Number : 7 Question Id : 7164471357 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Body cavity unlined by peritoneum is known as:
e50@DNAAD T DMBODED 3000 LRFTD) Qe DeNJd:

Options:
true coelom

1. & Da 3606 Ldrco

pseudocoel

3 DTS 206 Sirto

haemocoel

9y 0F ©DP6aD

schizocoel

4 % DBE DIRCHD

Question Number : 8 Question Id : 7164471358 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When coelom appears as a split in mesodermal tissue, it is termed as:
235 00 Seaarwodd” DRG0 DALTF0NHTT SDDY, T QU° DRV W:

Options:
enterocoel

1. % o2t

haemocoel

9 OF DIFCAN

schizocoel

3 o DBE DDPCAD



false coelom

4 " EJJ{;:P?S SraT e

Question Number : 9 Question Id : 7164471359 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Some protozoans show characteristic changes in body form which is called as:
8 FEaren 300 D07 20065 ATCHNED DEBNOSTT) QO DADFC:

Options:
paraboly

1. & roees’d

metaboly

7 0ereSd

epiboly
3 % 0D

rolling

4. = TOoH

Question Number : 10 Question Id : 7164471360 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Chagas disease in man is caused by trypanosoma:
202365 TR0 S AL R plel TR lonts ADIT 20

Options:
gambiense

1. = rrnéc:ei}cm‘%g

rhodesiense

2' - Ef(ifﬂ(ﬁjfjb



Cruzi

3. v &2

bruci

4 = £°

Question Number : 11 Question Id : 7164471361 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Metagenesis means postponement of power of:

ALEFEIN0 9063 S0 35D TPONTE DOES 890 ego:

Options:
sexual reproduction

1 o D0E Hogend

asexual reproduction

7 % e9T008 DAESND

l'E‘gEIlE‘l'&tiDﬂ

9 kDI

spread of cancer

4 % 5700

Question Number : 12 Question Id : 7164471362 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Presence of colloblasts is a unique feature of phylum:
S erpoen SIDoSEDO 08 HTEIS D0e0HoDD DI L0

Options:
Coelenterata

1. % HSoeder



Porifera

7 % JoDO

Annelida
3 % odJc

Ctenophora

4, v &3

Question Number : 13 Question Id : 7164471363 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Nephromyxia are present in some:
DTS 0IrORD S 2aG° ED) oS SIvFro0:

Options:
Oligochaeta

1. = 2dFder

Hirudinea

7 % oOEDOIE

Polychaeta

2 v rdier

Archiannelida
1 = e:?&b;):i'}ejc?

Question Number : 14 Question Id : 7164471364 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the wrong statement in the following:

Sob o) ook @@S 2ELHDD docEod:

Options:



Mandibles are highly reduced in moths

1 = EJ@J&E}@@“ arocendy {ﬂﬁm}?@gm} DS ST SEHTE0N

Mandibles are absent in housefly

7 Garieres® Sroctenssy (Denseaen) Gotidd

Mandibles are sclerotised in silverfish

i::ﬁ.vsé s Sorotienesy (&msﬂ?gjw] 200608 SoderEeEron

Mandibles are modified into stylets in fruit-flies

wre5-20 (fruit-flies Je5° SSLIaIAY S (EJE.DS“‘QJED] DTSy T 076N eIETP00

4 v

Question Number : 15 Question Id : 7164471365 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the correct pair from the following.

206 o7 Do) DOD 20D JochE od.

Options:
Ametabola — White ants

1 = BIRDEFES O - B EVED

Paurometabola — Bugs

I &wm@ﬁw—mmmm(mﬁb}

Hemimetabola — Silverfish

3 % PoDneTES e - i:msﬁ adal

Holometabola — Grasshoppers

A w FFS Toereter - Doceten

Question Number : 16 Question Id : 7164471366 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Select the INCORRECT statement from the following.

206 e BT &) DEODD JotEol.

Options:
Torsion occurs in prosobranchiate gastropods

PG (DATRN0) 906 T ero3es TP arEe” o208

Detorsion occurs in opisthobranchiate gastropods

CATGR €900 2, EroSe] TP arGe” D006
| ) B o3

In torsion, organs of left side are reduced or lost

3 % ErED(DRIN0) S° IR DT Bhosercomron Sor fsfesﬁbutmﬁo 008

In the complete detorsion. there is no reduction or loss of shell

4 v ROJFY GePG &, 80\Oo &itto S %ﬁeﬁﬁgaaa 20050

Question Number : 17 Question Id : 7164471367 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the correct pair from the following.

208 o6 2000 D0D 2oL docbEod.
Options:
Crinoidea — Ophiopluteus

1 = S:F0ACIT - 25003050

Echinoidea — Auricularia

? s JSTrondoir - edHE008r

Holothuroidea — Echinopluteus

7 « e oTrondoir - ;)éﬁ@-nesami:



Asteroidea — Bipinnaria

afgvom&omu - DHHbBaIF

4, v

Question Number : 18 Question Id : 7164471368 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is an example of class Ostracodermi?

306 e w@%“a% BO0AS G0 OO ?

Options:
Dinichthys
1. % GIEBD
Cephalapsis

Chimaera

3 % Qaronoe

Hippocampus

4' ® '3]“‘36 :JS“OE:}E]

Question Number : 19 Question Id : 7164471369 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Cloacal bladders serve as respiratory organs in some:
£5e) ercm S0b B’ TS0 90T DDBTRo:

Options:
lungless salamanders

1. & €003 TD FOJToED

African hairy frogs

I % IS Do Bare SDHyen



aquatic turtles

3 v i}éﬁﬂ‘ﬁﬁb

elasmobranchs

4 = e erosy

Question Number : 20 Question Id : 7164471370 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the incorrect statement with regarding renal portal system in the following.
Totaes D°Ge5 25003 Doe1odod) 0H HELDVES” VBTN T°AD JocEod.

Options:
It drains only hind limbs in anuran frogs

1w BROHOD E0N0E° DALY BDODTD) (3770& Boe5) & ArGRL P SR0d

It drains only the tail in fishes

9y a0 g0 8 (E300065) & g Gond (a79) BS00d

It drains only the tail in snakes

3 x A0 Daweds® &5 (Bos) o arg Gond (a79) 3oed

4. v

It drains both tail and hind limbs in crocodiles

20 DHWES” FE (B026S) B0 DAWE H0HTD) (o0& Doe5) K Tocod Zowd (a°9) 32006

Question Number : 21 Question Id : 7164471371 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Wolffian body is also known as:

3 8yoIrS(Wolffian) erdd qer Sre Dengro:

Options:



mesonephros

1 v DFFew

pronephros

7w TR

metanephros

3 x 0erRTen

archinephros

4 = e50), DT en

Question Number : 22 Question Id : 7164471372 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the correct statement in the following:

208 TP od DBD HELD docEod:

Options:
In man testes descend in the inguinal canal

1 = NS SyEFen QofTS (13 ©oeodHS) Tryoes” SHT0N

Monotremes lack scrotal sac

2S00y Dperds 5 (D83 B3) 590 socad

In elephants testes remain in scrotal sac

Doree” ayderen Ty TE(Dals D) &° cotron

Testes of bats contain the Bidder's organ

4 = (iyere yEeren DEO 0l Haad) S8 eotrow



Question Number : 23 Question Id : 7164471373 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3

Correct Marks: 2 Wrong Marks: 0.66

Match the columns:

1. Bunodont 1) Horse
2. Brachyodont | ii) Man
3. Hypsodont iii) Elephant

4. Lophodont

iv) Ground squirrel

Sod T 20D

1. enaSzeoes ) (Do

2. ePAC3rTmoed if) a0

3. Eyﬁjﬁr}mﬂuﬁ i) e

4. 5ot iv) 2P0 ecied
Options:

1-1;2-1v;3-1;4 -1l

1. o 102 -iv; 3 -i; 4 - i

L 2«11 3= nrd =il

9w 1-iv; 2 -0 3 - ii; 4 - i
1-1;2-iv: 3 - ii: 4 - i
3w 1-02-iv;3-ii; 4 - il
1-i:2-iii; 3-ii; 4 - iv
A4 x 1-52-ii; 3-ii; 4~ iv

Question Number : 24 Question Id : 7164471374 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the INCORRECT statement from the following.
300 T0S° BDYT &) PELJID JocE ol

Options:



Hormones are secreted from the cell by exocytosis

1 = DE 50D H0H Toe e o) T8 o POFow

Undigested material from the cell is extruded by exocytosis

9 Ee0e5° Ado =0 HorTren Q%“D:@eﬁ:-ﬁ TP(T° DEVDOE DDGOLICIETOD
. B ] @ &

Pinocytosis is a form of endocytosis

3w DIREND DD 28 DS oIS

Phagocytosis is a form of exocytosis

4 v FETE5°00 9O 2,8 DADORD IE D

Question Number : 25 Question Id : 7164471375 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Glycolipids in plasma membrane are usually located at:

), B0’ D NEDDE FTrOmoTT RE)E G0EPoN:

Options:
inner leaflet of plasma membrane

1 = @D.ﬂﬂé BEDS D0e0BODD e5°® Sroes”

outer leaflet of plasma membrane

3 @D.ﬂﬂé BEEDS D0220H0DD DeDHY SFoes”

both inner and outer leaves of plasma membrane

3 « FoT), OEEDS 20820800 S0 ddoIy DenDdd o’

undefined position

4 = CRogsls gv;ao

Question Number : 26 Question Id : 7164471376 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Name the sequence of RNA which is recognised by a small unit of ribosome in prokaryotes.

B088 VPO BDY'D D) DT €0l JeSE D00 Trqor Bociio RNA o)y @er Deodro.

Options:
Rho utilisation site

1 = Rho oo 26

Downstream s equence

CRRaY Sao

Upstream sequence

@E%j}éj 00

Shine Dalgarno sequence

4 v 2 =Tl Savo

Question Number : 27 Question Id : 7164471377 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The elongation factors involved in prokarvotic translation process are:
B0g80r0g P0G DE0H(TSTIRS PN FRR)S” TG Joroliad seosmen:

Options:
EF-1 and EF-2

1. ®= EF-1:060in EF-2

EF-Tu and EF-Ts only
2w EF-Tu &oBoin EF-Ts doegdo

EF-Tu, EF-Ts and EF-G
3 « EF-Tu, EF-Ts a0boiwn EF-G



EF-1, EF-2 and EF-G
4. % EF-1, EF-2 sv8osw EF-G

Question Number : 28 Question Id : 7164471378 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The site which is NOT present on the ribosome for association with tRNA molecule is:
tRNA Beapod 20650 IONGDEIS Dentr TeS' & e e $0d HBT0 Eoccd:

Options:
A site

1.5 ARS

P site

? % P 2085

I site

3 ¢ 128

E site

4. % ERS

Question Number : 29 Question Id : 7164471379 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The zinc-finger motif of transcriptional factors is coordinated with:
EPORY RIS TP0T7L B085-0(16 DD DO HIF VHILOTO BocdBLO:
Options:
two cysteines and two histidines

D0c DAY 0HCIL Tt aPQeaD

1.~

one cysteine and one histidine

Rl hﬁgé S08ain 2.8 iﬁ?gdé

2. %



two aspartates and one cysteine

Bocs aﬁvggﬁg S0B0ID 28 DRD

one aspartate and two cysteines

208 e3:P865 208t Boc DR

4. « s

Question Number : 30 Question Id : 7164471380 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Synaptonemal complex forms during which stage of cell division?
&6 DBRJS"D 306 D B3F DY DS D00 DOYEB0H?

Options:
Leptotene

1 % E‘__J'g}}ﬁé?)n%

Pachytene

? % ardOd

Zygotene
3 ¢ 08D

Diplotene
4 = (S

Question Number : 31 Question Id : 7164471381 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the correct statement from the following.
Zod ordes” RO &R DS Jdoco&od.

Options:
Facilitated diffusion does not require carrier molecule

1 « ROOVZOD TLDTIS TS [T5Eraj35) €960 eI G0



Active transport does not require energy

7 % S0IrI CTETLD 38 000 T

3. v

Glucose transport system of intestinal epithelium in mammals occurs by secondary active transport

L0tre"D e08d edEve ﬁﬁaﬁﬁmae_’)ﬁ (rEE Corr b &S@Dja d0irde GoreF TQO° aHE00

4. %

Proton translocating ATPase of bacteria is an example of secondary active transport

eP; 30018 2080000 TP epdy S50 ATPase 500 A(BODH 0IrI0 BT e 2.8 GIFromn

Question Number : 32 Question Id : 7164471382 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following laws of Mendel states that gametes are never hybrids?
P08 DS FFDCIT Eocad DNOITFD) S0d D0ces ArEres” DO AFDR6H?

Options:
Law of dominance

1 %« & 250 TRN( BBS] rgo)

Law of segregation

9 g TED 2AT00( D0HEE), 0 7oreso)

Law of random mating

3 5 25D Trocto 200N ( CITrEyNS Dosoes Drgo)

Law of recessiveness

L = 3 E- o
4 x T B N ©080e Qargo)

Question Number : 33 Question Id : 7164471383 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



The tendency of two or more genes to remain together during inheritance is called:

T OGRS 205D 2e0030eS° ot S DE) D BAGDED SOD Eol ES O Qe DEVIEED:

Options:
Cl‘DSSiﬂg over

1. x S°~of &6

linkage
3. v D35S

recombination

4 x b50Dand

Question Number : 34 Question Id : 7164471384 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the incorrect statement:

205°Y PENDX JocoEol:
Options:
Svynapsis takes place during zygotene

1 = PTayD EHAS D030 2SS

Crossing over occurs during diplotene

7 o T0h L6 ZEED Dol adrhEred

Synaptonemal complex appears during zygotene

7 « DT RS oSy BHON Da0DS” EIDYB



Chromatid is the unit of crossing over

4 x FOTOE &DO 5006 L6 30E), ardeS

Question Number : 35 Question Id : 7164471385 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Mitotic recombination was first reported in:
D065°DE HsrodDND (20%yodTrrio) €06 e Qoces” EDDoDob:
Options:

yeast

]

1%935

aspergilus

drosophila

3. v &0

E. coli
4, » 28D

Question Number : 36 Question Id : 7164471386 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The hydrogen atom of a base in DNA can move from amino group to nitrogen. This phenomenon is called:

DNA &5°9 825 2020800 3PERS DODTER) 900 S (D Ao 2D oo, S icNaITEY
Qe BEVPUD:

Options:
tautomeric shift

1 v ePeSTn0S )

frame shift

5 A, £
7 % DD 21



transition

3 % \-&_{TK}DE:{;E)

transversion

4 % &S

Question Number : 37 Question Id : 7164471387 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Match the columns:

1. Chiasma type theory 1) Sax

2. Classical theory i1) Darlington
3. Copy choice theory iil) Janssens
4. Precocity theory iv) Lederberg

Sob D) adncdot.:

1. ﬁaﬁj‘*.ﬁ"é Gtio Porodho 1) 3*’5‘3
[
2. 58S ?@]E}Toiﬁo i) aglelefg I8!
3. = oronD ﬁ:rtg“ee:ﬁo i) 34:95?053
4, HEH SIalLl iv) S&6ed
Options:

1-1i;2-1;3-iv;4-1

1 o 1-ii: 2 -0 3-iv; 4 - i

Lz 2= 3 -0 4-1w

2w -0 2- 0 3 - il 4 - iv

Lo 211 3= nnd =il

3w T-iv;2 -0 3 - 4 - i



1-1;2-11;3-54-1v

A ox -0 2 it 3-i; 4 - iv

Question Number : 38 Question Id : 7164471388 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3

Correct Marks: 2 Wrong Marks: 0.66
Match the columns:

1. Down syndrome i) Trisomy 18
2. Edwards syndrome i) 45.X0
3. Turner syndrome iii) 47, XXY

2. Klinefelter syndrome | iv) Trisomy 21
S0d D 2BDCGD0l:

1. &R Dof oo 1) &I 18

2.3&5(@3 ~0fs a0 ) 45X0

3.006 Do iii) 47 . XXY

4800090 Dofan iv) &0 21

Options:

1.~

L 21 3=l =jii

T=m; 2 =3 ~<lizd =

1-0ii;2-1;3-iv; 4 -1l

I= i 2= i3 ==

1-ii;2-1ii;3-1;4-1iv

IT=1z2 = 3 ~g4d~N

Lot Ze v 3= ilzdqil

1= B2 =hgdesiisde=




Question Number : 39 Question Id : 7164471389 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the correct statement in the following.

808 TOS° DO &) PELDD JocvEod.
SRR

Options:
Achondroplastic dwarfism is autosomal recessive disorder

1 = 0B DEar S SDMIMErEN 900 Tohd Eard ave €00 He DBy YO
. = ED = — =]

Huntington chorea is autosomal dominant disorder

I srododd EB0IP D8 Johs EQrE D e3BE0 OO Sy 7O

Phenylketonuria is autosomal dominant gene disorder

7 % DRSS’ ATBOIT DA GoNs EDTE ane B0 H-) OBy 0] T°0

Sickle cell anaemia is autosomal dominant gene disorder

4 = 2365 D& IO 9B Tohs EArd a0 esHS[0 D) DSy )| T°6

Question Number : 40 Question Id : 7164471390 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Diffusion of oxygen and carbon dioxide in peripheral capillaries is governed by:
DDOES TRRONS” 3832 ABOID TUND LOIFENE T D0 BATT" DOFDE oIS

Options:
Hamburger shift

- 8 £
1. = momgﬁ ada)

Fick's law

2 ‘&? ﬂjéﬁﬂ_‘_‘lﬂ

Hering-Breuer reflex

q . 00fi-grand 68y



Laplace’s law

1 % @51353@

Question Number : 41 Question Id : 7164471391 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is INCORRECT in the context of structure of a myofibril?
SAFPDES D7 ee 0305° o8& TAS” & D/HE T ?

Options:
Sarcomere is the portion between two Z lines

1 = ) 206 900 Bocd Z Gy G &reio

H zone lies in the middle of A band

7 % H&S e A Al 5:131:_5-5&3‘ G006

A band and I band alternate each other

3 x A ajﬂéadi atoiw | m@otﬁ 28T 88 mmﬁmm E0fPo

Actin is present in H zone and myosin in I band

4 v air3S €958 H & 569" 200000 J00ITRD 9od | eaaéoé,@*‘ Eot008

Question Number : 42 Question Id : 7164471392 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Visual acuity is tested by:
(ﬁ&,ﬂ& ﬁcﬁ&@@“ﬁﬁc‘l S HOEIFW:
Options:
Ishihara chart

O
1. % HelaI0P aﬁg

Snellen’s chart

2.‘5? T\]ﬂlﬁjér:] ﬂj"g



Rinne s test

9 . 09063

Trichomats

4. = BE TSy

e

Question Number : 43 Question Id : 7164471393 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the correct statement in the following.

208 T 0 0D PELDN JocE od.
Options:

1. =

The thin descending limb of loop of Henle is extremely permeable to sodium ions

Y OI0g), P G0, DD HBar (Ehocof) waoioe JFeobo OIradsh e cﬁvciﬁmigo (DB o305 )P
&otvod

The thick ascending limb is permeable to water

7 % S00Gared estiar (esm0dof) 900 DS &Gﬁmga (800805 ) 08100

The early part of distal tubule is impermeable to water

3 v GRS Lrgefd aI0E), P00 o DB earorianio (R0HB)0TEVS T E0e00d

The collecting duct is very impermeable to urea

4 = W00aTe ~PYo aIPHOIFEE) Trer tﬂéﬂﬁﬁm?go (08), 0EVS I 080060

Question Number : 44 Question Id : 7164471394 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following cell types are NOT present in fundic glands?
DoES Joced® 30d 2 G50 SeFen SDDoceN?

Options:



Chief cells
1 = é’)i}(m;%} gEFe

Parietal cells

7 % rbeed grren

Neck mucous cells

3 x 5 m:nésa grgre

Acinar cells

4] v Db Soren

Question Number : 45 Question Id : 7164471395 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following diseases is NOT related to thyroid secretion?
208 o°®eS" UrONE oIS DoeoHoSD 50 QAT

Options:
Addison s disease

1 v @&E:@D o460

Cretinism

2 % Sﬁ:}&i}:

Grave s disease

3 % Gy 750

Goiter

A = mronexd

Question Number : 46 Question Id : 7164471396 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Select the INCORRECT statement from the following.
208 Teedes BT E) DEOJDD JocoEol.

Options:
Disulphide bonds are stable covalent bonds

CRT\E 0O o E565065 eoren
1. » =% o=

Hydrogen bonds are weak, give stability to the protein molecule

7 TPE RO LI0TFLD BIOMTOHRNND, SO LN 2050 9060

Ribonuclease contains five disulphide bonds

3 85’ ABOD 900 DA EITE LT DA &otwod

Electrostatic bonds help in the formation of nucleoproteins

Suggﬂéﬁé LIOTFODE) E&Jﬂ?ggojjﬂ,@“sf@ DUD:JE.}JEB*S DFOIDETEOD

Question Number : 47 Question Id : 7164471397 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Match the columns:

1. Monosaccharide 1) Sialic acid
2.Polysaccharide 1i) Sucrose
3.0ligosaccharide iii) Heparin

4. Derived monosaccharide iv) Glyceraldehyde

Sod Tre) 2800006

1. oe8ra0s 1) 200395 esano
2. >DI:soE i) 205

3. adErons i) 3°ar0o

4. e I D0E iv) DROBarE

Options:



| I I S e B e S|

1 % 1-i:2-i;3 -iv; 4 i

1-iv;2-1ii;3-11;4-1

Y o 1-iv; 2 -l 3-0i; 4 -

1-1;2-1v;3-i;4-1

o - 2-iv; 3 -t 4 -

1-i;2-1i:3-11i;4-1v

A4 x -2 -ii; 3 -iii; 4 - iv

Question Number : 48 Question Id : 7164471398 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Match the columns:

1. Lecithin 1) Nerve fibres
2. Lanonin il) Whale

3. Spermaceti iii) Polar bear
4. Sphingomyelin iv) Egg volk

Sod e adncdod.:

1. T26D 1) =& PHoeroded roen
2. @5335 1) @es
3. 2norL 8 1) G5y Jencierotd
4. 4o 0B V) (e 7

Options:

1-iv;2-1ii;3-1;4-1

1.« 1-iv; 2 -iii; 3-ii; 4 - i



1-1i;2-1;3-iv;4-1

9w 1z 2 -3 -iv 4 i

1-ii;2-i:3-1v: 4 -1ii

3w 1052 -0 3 - iv; 4 - i

Lo 211 3= nnd =il

4 % 1-iv;2-i;3-ii; 4 i

Question Number : 49 Question Id : 7164471399 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Match the columns:

1. Haemoglobin i) Secondary structure

2. Proline il) Homogeneous quaternary structure
3. Silk fibroin iil) Heterogeneous quaternary structure
4. Phosphorylase iv) Helix-breaker

Sod aredd) 2aDcdot.:

1. DS 1) ABaD Do°) L0

2. IS i) SFRrBI0DD 570 6 Joe)ee0
3. 2t Do i) 3BT LD 5°¢0) 8 Do) g0
4. >TSS iv) 35y-856

Options:
1-1;2-1i; 3-iii; 4 -1iv
1 % 1-02-iis 3 -iii: 4 - iv

LeiZemii3snded
7 % 1-i;2-u;3-v;4-0



Loty 2a1: =il =il

3w 1-iv;2 -0 3~ 4 - i

1-1;2-1v;3-1:4-11

A o V-2 -iv;3-i: 4-ii

Question Number : 50 Question Id : 7164471400 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The relative commonness or rarity of an allele is called:
2,8 oswrf), ﬂéuho(allele} CB00E), 005 ﬂﬂm“dméjso For e9NEITDBR) e eDJA:

Options:

genotype frequency
1 « NS ‘53253}3

polymorphism
20 :jae.f_n

allele frequency
3 a0, DO fﬁ“é:‘@ééc

linkage
A, % DoBH

Question Number : 51 Question Id : 7164471401 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the incorrect assumption of HW principle in the following.
308 aeS” HW g0 B0 8y DArEAD JocbEol.

Options:
Population is infinitely large

1. = 2ePE eaddsorT QISJETE&



Mating is random

2' " 20800 e Q‘ﬁ“‘(ﬁ&ﬂ&ﬁﬁ

There is no natural selection

3 % Dira Jods 6 Gotiew

There is gene flow in the population

4 v 2 rereS” 2] VIO E0Lod

Question Number : 52 Question Id : 7164471402 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In a village population, a sample of 360 persons showed the following number of persons carrying each genotype:
MM =192

MN =142

NN =26

The allele frequencies of M and N, respectively, are found to be:

208 Pa0eS™D 2irere” F oS Jotdddy 360 00d D5 30d DYDY VoaeS D HieD 2.8 BAETIIY
SROBFOD) & Bdod:

MM = 192
MN = 142
NN = 26

M 208050 N3 208308008 050, DSy EGINRD DM QO™ E0eTO:

Options:
0.533 and 0.467

1. * 0.533 swdasw 0.467

0.731 and 0.269
7 « 0.731 ooboin 0.269

0.937 and 0.63
3. % 0.937 0603w 0.63



0.720 and 0.280
4. % 0.720 0605w 0.280

Question Number : 53 Question Id : 7164471403 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the INCORRECT statement from the following.
206 e BEDYT D) DI JocoEol.

Options:
Chimpanzees and humans differ anatomically

1 = Doaroen SuB0IL STrd)eD éﬁﬁcﬁﬁéoeﬁ'ﬁ DEICI0 TN TR

Chimpanzees and humans have almost identical DNA

9y Woarozed doin ArdHY” TR 2:5D6200 DNA &otod

Chimpanzees and humans have similar regulatory genes

3 Doaroen SB0IND AFADY” 2BDEDD DoDoGEs 2ALENEVEPOD

4, =

Chimpanzees and humans have similar allelic substitutions of the genes that encode protein sequences

Doarden 0Boin ardDyg” 20EDHOL DoE0HOD 2EDERM ODS PEFEIT) alrenotron. @D T garon
JDEE BJrow

Question Number : 54 Question Id : 7164471404 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Match the columns showing levels of gene expression and generation of corresponding phenotypic variation:

1. Heterotypy 1) Change in location
2. Heterotopy ii) Change in time
3. Heterchromy ii1) Change in amount
4. Heterometry iv) Change in kind

20§ Dy850e gvcmw S0B0IL 2D0e0HES DIGDS DHGHND ST DG8y0D HHOVOR 2S00l

1. 3638 300 i) Freo0es® aoeeidy

2. 2350 ii) 0as0es” ardy

3. 3368 D0 iii) Dooesoes” Doeddy

4. 20630 208 iv) 680e5” 0y
Options:

Ladgl: 2ak 3cfizg< v
1. % 1-ik2-E3 -4~

1-i;2-1i;3-10i;4-1v

2w 1-52-i;3 i 4- v

]

-1 3-1;4-1

Fox 1-0v;2-iii; 3-0i; 4 -

1 =iy

-1;3 -1 4 -1il

A o 1-v;2 -0 3 -ii; 4 - i

[a—
1
T
=
]

Question Number : 55 Question Id : 7164471405 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Match the columns:

1. Dobzhansky | i) Systematics and the Origin of Species
2. Mayr il) Tempo and Mode of Evolution

3. Simpson ii1) Genetics and the Origin of Species

4, Darwin iv) The Descent of Man

So& TP 200006

1. cﬁcﬁﬁy‘%ﬂ% i) DPATOEY SB0IN e3dRD Bd ?a;j?afa
2. o306 i) G308 sp8IL ATE 3D DGO
3. oD iii) BIEEY DO €02 D E:-Jfafa
4. ::“555 v) & &0t ese 511“?55
Options:

1-iv;2-iii;3-1;4 -1l

1 % 1-iv;2-iii 3-i: 4 -ii

1-ii;2-ii;3-iv;4-1
P % 1-m:2-m;3-v;4-1

1-iii;2-1:3-1i:4-1iv
3 v T-m2-33-u:4-1v

LeizZe iz ey d=iav
Ad x 1-52-3-0i;4-0v

Question Number : 56 Question Id : 7164471406 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Vicariance is:
Ds~803Ry (Vicariance) e956:

Options:



1. v

Population of a wide spread species separated by habitat, geology or climatic barriers

RITPIPRD, EP(I0) TR0 STF TR0 N0 T TP(T° DM BOIRICD DS T°fw B0 BT

Convergence of separated populations of a species

7 % 2.8 e r:ﬁmsb DDDODEIC Brree tfmé% ead)ra05e

Absence of related taxa in separated areas

g g DOBODLED o DoeodS ersmy SET Do

Solely important process for distribution of a taxon

4 % EPEND DoDes E00 DAL &RV HEOH

Question Number : 57 Question Id : 7164471407 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Nucleus of the dividing primary ococyte is called:
D2 0B FBIE 20 Ser SoG D) RO® DEDJW:

Options:
first polar body

1 = DY 2rerd ercs

germinal vesical

9 a@%a‘m‘i Deotes

second polar body

3 % Dok Ferd erd

secondary oocyte

A w PE0CO €365



Question Number : 58 Question Id : 7164471408 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the correct sequence of processes of embryogenesis.

DoDOITFEIDD DO DoLIOQOLIN VBH DDV JochE od.
Options:
Cleavage - Fertilisation - Gastrulation - Organogenesis

S0 - RTINS - TRIROTON - 35?33‘53?05:&

Fertilisation - Cleavage - Organogenesis - Gastrulation

DOTEND - SDB - wgﬁaﬁﬂaﬁ - rr%mejaﬁ

Fertilisation - Cleavage - Gastrulation - Organogenesis

3 DRTEND - $DB - rw%mem.% - Eﬁ*ﬁ@bhf&

Cleavage - Gastrulation - Fertilisation - Organogenesis

858 - TPIOTND - PDRTFND - TIBIVD

4 =

Question Number : 59 Question Id : 7164471409 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the wrong statement with regarding cleavage in most frog embryos is:
TR SO0 Do)’ DEFH0(FDE ) D0e20B0D By PELD JoE ol

Options:
Holoblastic

1. = BN

Radial
7 % BAALS

Symmetrical

g, DIRBES (Fgo)



Equal
A @ PDOTHo

Question Number : 60 Question Id : 7164471410 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a function of amphibian blastocoel?

S06 T6e5° 250D DooinE DRLITCAL D SIAE IH?
Options:
To position the mesoderm between outer and inner endoderm

EPSI) SOOI €085 IO I SVGE AVE) BLEIAD JT™YED 300
1.« S

To permit cell migration during gastrulation

TRRRSND Da0N0ES” 5830 DOV DYEEIS 0B0C0

To prevent interaction between cells beneath and above it

7 « S0 a0doi T Do &) Sere Gy &xjut:acgso DT HBoSEo

To prevent contact of vegetal cells with ectoderm cells

4 = Desered SeFeen Qofﬁé& sererds S0HTIY DHE HodEo

Question Number : 61 Question Id : 7164471411 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Gray crescent is:

0 §0085 e306:
Options:
a band of inner grey cytoplasm i 1-cell amphibian embryo

1 » 1758 62B0DSC Doco S5 LPEE GorD PR DoeI0BODND ePjol

an important area for positioning neurons in developing brain

0 SO 29D BS” ATTRL JT*ENLH 28 AV D0



a layer of dividing neural stem cells

3 « DD Dod A0S PO S50 B9 e}

a region in the avian blastoderm

4 x D20 PTG, &I 28 Hd%0

Question Number : 62 Question Id : 7164471412 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A 1-cell thick area in the centre of chick blastoderm that forms actual embryo is called:
DRV Dot IOBS DS erI'ad) eeS” 1-Sroe oo SHAR HAT QeF DenFD:

Options:
area pellucida

1. v 2803r wevdes

area opaca
7 % DDOIF arg

marginal belt

7 = Eflj“géeﬁ I'fnfg

primitive streak
FRTARLALS) ?gé

Question Number : 63 Question Id : 7164471413 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A local thickening of epiblast at posterior edge of area pellucida is termed as:
DA DLOVET DR 0D DG IDEFRY FILMT (IPDEEED) QO™ DI CD:

Options:
Hensen s node

1 “ Eﬁﬁbﬁbsﬁ



Nieuwkoop center

% u mﬁgjn;i: FRTeATe)

Koller's sickle
3 v 5“-1;6:) o5e5

Spemann's organizer

4' " ?h;jcflj".%g HH@_E&G

Question Number : 64 Question Id : 7164471414 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Match the columns:

1. Epiblast 1) A small disc of cytoplasm egg volk

2. Hypoblast i1) Cells of area pellucida forming upper layer

3. Endoblast ii1) Cells of area pellucida migrated into subterminal cavity

4. Balstodisc 1v) Sheet of migrating yolk cells of posterior margin of
blastoderm

Sod aoredD) 2800000

1. Joer 1) 265Praas e206:0e5°D DS Woe0RodD DY E,
2. e i) 2 T DG IOE IBOIT DRDVT SEFED
3. Jo&feg%}:: iii) 2e5638) 965 £:r60e5°8 DT DOOIT DT SETeD
4. epaR), iv) erad), PRBANE PO Voe0BoDN BB DY T
See) oS
Options

Lejiz2=Hi:3 -1 d-1

1. o 1-ii: 2 -iii; 3 -iv; 4 -

L-1i;2-ii;3-ivi4-1
? ox T=i2=0 3 =v; 4~



1-iv;2-iii: 3-ii;4-1i

I o T-iv;2 iz 3-0i; 4 -1

I-1;2-1; 3-1v; 4-11

A4 % 1-0 2 -iii; 3-iv; 4 - i

Question Number : 65 Question Id : 7164471415 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Select the INCORRECT combination between TF family and their function in development from the following.

206 78 o) @?:M%Q Socicioes® TF @“5333) S0Baty T ?655113"3“&) S0E; BDYT E:9) DL FPDY JocuFod.

Options:
Hox — Axis formation

1. « Eﬁéﬁ = Cﬁ)"é;}fa @“ﬁéﬁé (RoORTH DU"JE‘._D)

Pax — Head development

2. v ﬁ“gg — &) E‘ﬂ@&‘)&%

Sry-Sox — Sex determination

3« -5y — Doriesg DgroEe

bZip — Liver differentiation

4 x bZip — ®6 E:DBYCHND (s°Gon orideriian)

Question Number : 66 Question Id : 7164471416 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following molecular events does NOT occur during capacitation?

Barains 200 Da0000e5” S0d a7 2 e DoSLID0 WoDoIE?
Options:
Cholesterol is removed from sperm cell membrane

1 = gbcsé Sea @30 o) E'Pg FeofocecHsnod



Membrane potential becomes more positive as potassium enters the sperm

3 DGJ0e5°8 LFeraomo PDIoBEie H B30 (HIGH0 B0 IEPVIOTT E0t0d

Phophorelation of proteins occurs

3 x TOP TTOTNS DoBDL00d

cAMP production is activated
4 x CAMP &3\ 01T PN IO

Question Number : 67 Question Id : 7164471417 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Eleidin is present in:
JDED HIE” EDDLH:

Options:
strafum corneum

1 « Qﬁm.ﬁj 58 030D

stratum lucidum

TP LIRS
2.7 2

stratum spinosum

3« Q’”EJ&J ‘3}335}5}

straum germinativum

A gnmé) B8), HBH

Question Number : 68 Question Id : 7164471418 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the INCORRECT statement from the following.
300 T0S° BDYT &) PELJID JocE ol

Options:



Bone consists of collagen fibres

1 = JDES” FgrED pardy eotrow

Osteoblasts produce new bone

9y BROTYR o FY daws DBYEIB00E

Osteoclasts lyse bone

eS0T S AED DalEA0 DD 0 Baron
] o I ] ; —

Osteoblasts do not secrete cytokines

4 » €50C0I7EPR0ED 2T BN YDocdad)

Question Number : 69 Question Id : 7164471419 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Crypts of Lieberkuhn are present in:

E:agé 008, 3@3 29795 QOCVES &0FPa):

Options:
spleen

1' % '%.gf.juam

stomach

7w eddan

duodenum

3 v AoirEasn

liver

4] = sFaodo

Question Number : 70 Question Id : 7164471420 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Brunner s gland is present in:

2IPR6 (Jod Qoties” &otod:

Options:
duodenum

1. v édorzaa

heart
? % (Dho&

large intestine

3.» PRET

liver

A = srdobo

Question Number : 71 Question Id : 7164471421 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Rugae are found in:

GO 9D oced” Sotron:
Options:
intestine

1. & 20

stomach

7 @ eddan

kidney
q % DOTPGDOEDD

lungs

A, x €30S



Question Number : 72 Question Id : 7164471422 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Match the columns.

1. Leydig cells 1) Blood testis barrier
2. Sertoli cells i1) Prevent testis from exposure to cold
3. Dartos muscle ii1) Androgens

4. Pampiniform plexus | iv) Prevent testis from exposure to heat

Sod TrdD 2aDGG0C..

1. SE&A Seren 1) 08 Synrre 9860
2. 05D Sewrew i) spaEren S5O (HBTHET SPaPHB00
3. =00 Lotito lii) esofS @0
ED =]
4. FodITOD PEYW | IV) 9yEresd DES MHIBED0E SPrIE00

Options:
1-1ii;2-1;3-1i;4-iv

1. v 1= 2= k3~ 4~

I« Psiiizd iy o
Y o T-iv; 2 -iii; 3 -0i; 4 -1

1-i;2-1i;3-1il;4-1v
3 x1-52-;3-w;4-0v

Leilp 223 eprd =i
4 x 1=i;2-%3 -4 =0

Question Number : 73 Question Id : 7164471423 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Match the columns.

1. Epithelium of Bowman's capsule i) Macula densa

2.  Glomerular capillaries il) Podocytes

3. Tunica media of afferent arterial iil) Mesangial cells

4. Thick ascending limb of loop of Henle iv) Myoepitheloid cells

Sob i) adunddod.

1. DB 3D aﬁﬁng.%:} =00 NS 1) SoHer BTy

2. Baoarod s0ardd i) S°ET2E5

3. LT E0IT 3D Jad0ok) 28BS iii) Q0Jrofiotes Seaen

4. 5 e90C.00 Dol 3D rd D T iv) S0GrJdoderont e
Options:

1-iv;2-1ii;3-1;4-1

1. % 1-iv; 2 -iii; 3 -ii; 4 -1

1-1i;2-1v;3-1;4-1

9w 1 -ii; 2 -iv; 3 - ii; 4 - i

| ISR L (T e 4 P O

3 e I=ip2 ik 3 v 410

1-1;2-1v;3-11;4 -1il
d x 1=52=: 304~

Question Number : 74 Question Id : 7164471424 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The inherent property of an organism to reproduce and to survive is known as:
208 2D 3DDEDEE DBOID ARDAELD DoeIBOVD FEPDE (LEFPDY Qe D8) 0br:

Options:
Biotic potential

1 v pICITEIS E‘i}“eﬁgme_ﬁ



Allee growth
2 % B (Allee) &

Population density

q x ATE roRS

Population dispersion

4 x 2T aTga)

Question Number : 75 Question Id : 7164471425 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the INCORRECT statement from the following.
206 e DD &) DEODD JdotEol.

Options:
Flow of energy in the ecosystem is unidirectional

1 = DOY0e308)° 38 Pararo IS B3 Eot1od

2.

Energy circulates in the ecosystem from physical environment to the living beings and viceversa

?.‘::D“é&ircﬁmoé”& TAS DTDGER0 000 260 HOL 2B AL o) FFHE VOO0 DO 3§ ATOC
20006

Energy is lost at every step of its transfer from one organism to another

q oy & 520085 2,8 2D od TS DS DB HA 33S° 3§ Do AADBIE

Energy availability decreases from the lower to higher trophic levels

4 33 e2000ETE) BEY O oD I D DS FroeH BHBD
N @ 0

Question Number : 76 Question Id : 7164471426 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



The collection of individuals of the same species living in a region is known as:
208 DBF0ES” DDVD 2.8 GERD 2,008 BaPO VATED) QLT DOFE:

Options:
keystone species

1 = ég}ﬁé 2FPei)eD

community

2 ® Qiﬂ]ﬁzﬁﬁ

races

3w @a0en(God)

population

4, v v

Question Number : 77 Question Id : 7164471427 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Match the columns.

—

. Project Tiger 1) 1992
. Gir Lion Project il) 1973

I-J

3. Project Elephant i1) 1974
4. Crocodile Breeding Project | iv) 1972

Sod e ReDcD0t.

1. a8 o6 i) 1992
2. 06 LOLS FES i) 1973
3. >EE I0otS iii) 1974
4. 5526 HAoh FES iv)1972

Options:
1-ii;2-iv;3-1;4-iii

1 v 1-i2-iv; 3-i; 4 - i



Lot Ze v 3= ilzdqil

2w 1-52-iv;3-ii; 4 i

1-iv;2-iii: 3-ii;4-1i

Fox 1-0v;2-iii; 3-0i; 4 -

I-ii;2-1;3-11; 4-1v

4w 1-0i:2 -3 -0z 4-iv

Question Number : 78 Question Id : 7164471428 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Silent Valley National Park is situated in the state of:

25063 m}g&) DS F6), D Zob D TS” exod:

Options:
Karnataka

1' ® QE“EJQ

Kerala
? & Bow

Tamil Nadu
3 % av oD

Andhra Pradesh
4[ Y E_'FDQ ?’foﬂ%

Question Number : 79 Question Id : 7164471429 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What is the first process in ecological succession?
DEFRES TERA0S” DG HIOH IB?

Options:



Migration

1. = 2ogae (Hen)

Nudation

Aggregation

3. Y E‘.‘)@ﬁ:}%

Question Number : 80 Question Id : 7164471430 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The ecological niche of an organism denotes its:

2.8 B DT OO g“&ﬁﬁo e9mEy:

Options:
status within an ecosystem

1 v 208 DT§D0E30 E;?Sﬁ‘ré}::eﬁﬁ o) o ()

habitat

7 % esarR0

structure and feeding habit

3y DU D0BAID G0 S0P DBB0

climatic factors

] % oPTEHC SROSTED

Question Number : 81 Question Id : 7164471431 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Piloneers in xerarch succession are:
QU“GE’{XETEI rch) EPGE)@SG@G eI a8

Options:
crustose lichens

1. « SOESEILEEN

mosses

7 % R

shrubs
3. x Doen

foliose lichens

4. =« P°Do0d g8

Question Number : 82 Question Id : 7164471432 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following are NOT biogeographical zones of India?
306 " LAIFBOIITTOSS &'9S° artio 520 67

Options:
Trans-Himalayan

1 = PN~

Gangetic Plains

7w (0T DUCTRED

Sub-tropical Montane Forests

3 RE5-E5 05 Q0D AFORLD (&ﬁ“"ﬁmmcﬁt} DO CPeD)



Deccan Peninsula

4 = SRS és:::éu;}o

Question Number : 83 Question Id : 7164471433 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Match the columns.

1. Chipko movement | i) Forest conservation
2. Sperm banks i1) Ex-situ conservation
3. National parks iii) In-situ conservation
4. Hot spots iv) Significant threatened reservoirs of biodiversity

Sod D) 2D,

1 aﬁ“b €xe350300 1) e980d) FHotLes

2. \5), ergotoen i) D8y - 26 SHOR

1. S50 o_t)"{iJZjE_D i) d-Hen e eety

4. D55 JryE5y V) 2 DOTPEIS 00BN AVDIDID YATHEG B2T°LODD

Options:
1-1v;2-1;3-1;4-1i1

1 = 1-iv;2-i;3-ii; 4 i

1-i;2-1i:3-11i;4-1v

2 o 102 -ii; 3 - iii; 4 - iv

1-1;2-1i1;3-ii;4-1v

3w 1-02 - 3 - iz 4 - iv

L2 <3 amrad =il

A4 ox -0 2 -0 3 -iv; 4 - i

Question Number : 84 Question Id : 7164471434 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Select the INCORRECT statement from the following.
208 Teedes BT E) DEOJDD JocoEol.

Options:

1. %
Avidity of an antibody is good measure of its binding capacity within biological systems

oot erad D000l D end B ﬁé&ﬁ‘é}}ﬂeﬁﬁ T BI0OGHD ﬂvmgﬂﬁbé D00T) DATLIOTT 208006

2. %

Sometimes cross-reactivity occurs if two different antigens shoe an identical epitope

Both DD 0IrodBDen 2,570 IV PEBYY, EDY0oeTPye” TR BoIrEDE DoDR0S

Low avidity can compensate for low affinity

3 o O 9D @900 BEN D JDIDD Y SW0d

4 =
Cross-reactivity was the basis of Jenner s method to induce immunity to smallpox

237DS FrDBGE 33D OIS 86 &DArHDD DYAS 570 BaIrFDSD esTedo

Question Number : 85 Question Id : 7164471435 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The effector molecules of humoral immunity are:
SPTYDTCES @M@beﬁé 208305008 JDEE VEDEDVID:

Options:
antigens

1 = ctij“oe?ha?déb

proteins

2. % TO%



antibodies

3 OIrofdEred

ENZYICS

4. » 20B000e0

Question Number : 86 Question Id : 7164471436 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Many autoimmune diseases are characterised by tissue damage mediated directly by:

gt ese5” @Mﬁé aﬂémméﬁ So0b artd oo gare) E‘Jcﬁﬁoﬁ%‘?}é SPOER06 )T O0:

Options:
B-cells

1. % B-Srren

T-cells
? « T-Soren

beta cells

3w Der Sowen

proteins

4. x IO

Question Number : 87 Question Id : 7164471437 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In the peripheral blood a small group of lymphocytes do not express the membrane molecules and receptors. These cells
are known as:

DOHAD 8o (DBDOS L& )5 Do D) DRAPITO BEIR) 9EDVAD DBOID TPIFSPLR HIEDOSE. S
SEFEIAD QEF e90eIPD:

Options:
Effector cells

1. = ;)E:ug'ﬁ graeen



Null cells
2 o e [waﬁé] grare)

Memory cells

3 % 000 green

Mast cells

4. % m;:g Srgee)

Question Number : 88 Question Id : 7164471438 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Innate immunity is provided by:
2ere FIOITES 23 OD TP(T° L20B0RICIBO0D:

Options:
phagocytes

1 » 02

antibodies

7 % oirofderdd

T-Lymphocytes
3 x T-90T e

B-Lymphocytes

A % B—Eﬁo@f@@p

Question Number : 89 Question Id : 7164471439 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The primary lymphoid organs of the immune system are:
TIODT S DEOVD Doe10HeN FEDE HoaFonl BDODTVDD:

Options:



thymus and bone-marrow

1 Goded aB030 Ja8-aa0es
, W= &

lymph nodes and spleen

9 Dod S&y wbosw ETPA)

mucosal and gut associated lymphoid tissues

3 « 0TgETR5 0B eso@anE S0 DoaFond Smareren

cutaneous assoclated lymphoid tissues

4 = ﬁd&_{mﬁf et Dorond Sraareren

Question Number : 90 Question Id : 7164471440 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Major molecules responsible for the rejection of transplant are:
CAIS roe5 DO O ePC(s SATP0TH DD e9AY)ED:

Options:
B-cells

1. % B-Srren

T-cells
? s T-Scoeen

antibodies

3 % oirofderad

MHC molecules
4. » MHC eseaanen

Question Number : 91 Question Id : 7164471441 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
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The process by which particular antigenes are rendered more susceptible to phagocytosis is called:
D05 0D I D ISR D) DB 0ITredBD TPT 2060 HIOLRD WP LROFE:

Options:
opsonisation

1 v Hﬁﬁgﬂgﬁﬁ

anaphylaxis

= E.
2 % RITRT SO

ELISA
3w 20>

prophylaxis

4 = TR

Question Number : 92 Question Id : 7164471442 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Passive immunity is acquired through:
rias Pa}cmﬁ?g:ﬁéf: (Doxp,05 DEFGSE 3) 9D éﬁ)z:?sn‘* e580:3e3c08:
Options:
natural maternal antibody

1. » Para e, airoerc

natural infection

attenuated organisms

3 % o{aiplels 2anen



vaccines

4. % esren

Question Number : 93 Question Id : 7164471443 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following statements is true?
800 TS” DB T§ITgH0 DB?

Options:
All immunogens are antigens but all antigens are not immunogens

1 ¢ ©2 RIS ED airodB. T, 9 cIrodEN TN B TP

All immunogens are antigens and all antigens are immunogens

7 % OO RSB0 0IrodBH BOIL 9Dy cIFeSdEH QPSS

All immunogens are not antigens and all antigens are immunogens

3 % O RSB 0IrodB TP HB0ID 9 0IFoBED PDRESED

All immunogens are proteins and all proteins are immunogens

4 x D) QDT B TH0 BT 0y TOD RATETED

Question Number : 94 Question Id : 7164471444 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The main difference between prokaryotic and eukaryotic cells is the absence of:
T50HS 00010 0NIETINS Sre G VTP SFEE0 @d TETHCo:

Options:
cell wall

1. = S0 BE (RS o°85)

genetic material

2. % E—&FCD?S -:L}E}“gﬂ



internal membrane system

3 o 0BG o) DR

well-defined nucleus with a nuclear membrane

4 % Sog38 SFOF e DOCDocsecd Sogso

Question Number : 95 Question Id : 7164471445 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The largest eukaryotic cell is the:
93D alrseBS Seso:

Options:
ostrich egg

Efﬁbé e

1. v

hepatocyte
7y P05

muscle cell

3 % Socd Seso

cardiac cell

4 " Bﬁgmé 7085

Question Number : 96 Question Id : 7164471446 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In protostomes, during development, the mouth forms from the:
TP 008" D0y Dok, TM O 0k J0YEDB06:

Options:
blastopore

1 *f Eﬁgﬁijﬁﬁ

b



daIms

7> % SPO30)

blastocoel

3 % P ES

germ layers

4 = De rcen

Question Number : 97 Question Id : 7164471447 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The phylogenetic system of classification was described by:

DS 0I0E), RS BIOS SIS DBB DadBociercod:

Options:
Bentham and Hooker

1. = &oso 0BOID PO

Simpson

o_ .
2.% e 0 ,:'ré

Linnaeus

3 v EJFD‘LOTEL‘JED

Engler and Prantl
4. = 2006 00 ot

Question Number : 98 Question Id : 7164471448 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The pseudocoelom is NOT lined by the:
RPEES S DHB SDRES:

Options:



ectoderm

1 ® Sgaﬁé

endoderm

2 ® chtﬁf}é

mesoderm

3 mﬁﬁaﬁé

blastoderm

4 = ?gﬁﬁé

Question Number : 99 Question Id : 7164471449 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Protozoans are considered to be a connecting link between:

e E orden D S0E] 90T Botorr DOrEdocseICETEo:

Options:
plants and animals

1. v msbw G050 20E0HED

plants and microorganisms

7 % D0 D BATW mg.éai@w

animals and microbes

7 % 20630:e0 a0doin “ﬂﬁ%&@ﬂ)

bacteria and viruses

4 = EP{SO0IT SHBOID DOD e

Question Number : 100 Question Id : 7164471450 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Water bears or bear animalcules belong to the phylum:

5 86 St 86 rg PDen SrFen & POSDLD BoAID:

Options:
Tardigrada

1. ¢ ePOTrE

Onychophora
7 % LdEIo

Annelida
3 % i

Pentastomida

4 % bo@u@ﬁmczﬂ

Question Number : 101 Question Id : 7164471451 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Amphiblastula, a free swimming larval stage, is characteristically seen in the phylum:
o P00 707 (3% €9000R CIFOEFRDET (PO & POSNS” EIVROA:

Options:
Protozoa

1 x D&

Porifera

7 ¢ TFooo

Cnidaria (Coelenterata)

3. % Jdalr (§ododer)



Platyhelminthes

A w Derdiroadoda

Question Number : 102 Question Id : 7164471452 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Gastrozooids are purely in function.

Wé%ﬁwméﬁ PO 065" &obo.

Options:
digestive

1.+ %8

defensive

7. % Ofee

reproductive

7 DO

respiratory

4 = ?5‘@%6%

Question Number : 103 Question Id : 7164471453 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Torsion is a result of spiral coiling of the:
€5°6S 00 B 030, 2406 sP0Boh HBSo:

Options:
shell

1. & &

mantle
7 % oS (Frardo)



foot

3 % arco

visceral mass

4 v DRCS GaT°2

Question Number : 104 Question 1d : 7164471454 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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Auristotle's lantern is well developed in the class:

BFFEBS TI0E), TPoBMd S BOIAS” e D) Dodod:

Options:
Asteroidea

1 = e:v;g&‘ém:w

Echinoidea
? ¢ J8Zondair

Crinoidea

3 % dSondoir

Holothuroidea
4w FSeoBondoir

Question Number : 105 Question Id : 7164471455 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Doliolum belongs to the class:

EBDaIren & aoasS Doddb:
Options:
Ascidiacea

1 = Effﬂ%éﬂii)“ﬂ::



Thaliacea

7 adoirn

Larvacea

3 E.J‘*U‘*ﬁ?:n

Leptocardii

4 = S5'="8

Question Number : 106 Question Id : 7164471456 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Retention of embryonic or larval characters in the adult body is called:
S035ca 300085 DocdrD S orORES (CoE) vErFOD ﬂw@éﬁaﬁmﬂﬁ}l e e908TPC:

Options:
paedogenesis

1. & 82D

parthenogenesis

P % FOITBIDD

neoteny

3 ¢ Doired

metamorphosis

A x mwmﬁbﬁo&.

Question Number : 107 Question 1d : 7164471457 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following groups of chordates does NOT belong to Amniota?

306 2 575 DAPET0 D) CIrEPS BoHIO B°0?

Options:



Reptilia

1=
1. = Ot

Aves

Mammalia

7 = Eﬁ]&‘lﬁéﬁ)ﬂi‘r"

4 v @@550

Question Number : 108 Question Id : 7164471458 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Sweat glands are also known as:

D) (OGLBISY QT S e906FA):
Options:
sudoriferous glands

1. v “EBDOD docen

sebaceous glands

7 % PEF0LR HoGen

femoral glands

3 % Fe(DDroeS) doen

uropygial glands

4. & oS0BHR01 Joghen

Question Number : 109 Question Id : 7164471459 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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Which of the following are the elongated flight feathers of wings?
3o Tt 0%),© CBE), JToIBE DS DHGY (&g@a AT Sasen) S0d ID?

Options:
Rectrices

0GR

Remiges

7 OED

Pvgostyle

TS

3 = =

Flexor tendons

4' " 33535 2305“5:)

Question Number : 110 Question Id : 7164471460 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A typical mammalian dental formula is:
208 FTroee 2066 (Do) Bad) God Drgo:

Options:
3.1.4.3/3.143

1. = 3.1.4.3/3.1.43

2 123/2 1323

7 o 2.1.2.3/2.1.2.3

3.2.1.3/3.2.1.3
3 x 3.2.1.3/3.213



2.1.4.3/2.1.4.3
4 % 21.43/21.43

Question Number : 111 Question Id : 7164471461 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The poison glands of venomous snakes are modified:
DEPHE Sraoe GI08), DN Jocen DHBoseIC:

Options:
parotid glands

1. v 2EOE docen

mandibular glands

2 % motﬁm_suﬁ JoGoen

maxillary glands

3 % El]“éj&)&l{ﬁﬁﬂfi 20e05HE) fdocen

mucous glands

4 = §%30@m

Question Number : 112 Question Id : 7164471462 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

junctions are also known as close junctions.

20£5:0 §& 20550 9D 30 90870,
Options:
Tight
1, v 89

Gap

E.

2. % 750



Desmosomes

7 % E.ﬁsézﬁfmm

Septate

Question Number : 113 Question Id : 7164471463 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The term ‘meiosis’ was coined by:
DA 9D DY DD AFLTOBOT:

Options:
Camillo Golgi

1. = e85 nﬂg

JB Farmer
3 =) &nﬁéﬁ

Ernst Haeckel
3 % ;)E;LFQ P =10

August Weismann

4 % &30 HHaTrs

Question Number : 114 Question Id : 7164471464 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Zymogen granules arise from:

FEDED eraaNen O Dol 53R SDRDT0:

Options:
maturing face of Golgi cisternae

1 = 7o ?a?gﬁl 0300, DUegBof DR (:}:33355 SO



cis face of Golgi cisternae

9 & WQ i:‘?é:ﬁl cﬁné&r Cis e

endoplasmic reticulum

3 So&‘f@“ﬁ:}&é 585500

muclear membrane

] Bogs To

Question Number : 115 Question Id : 7164471465 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following described the concept of operon in prokaryotes?

S08 0 TrO el 2T ZPORI JDM DDBoEFm?

Options:
Watson and Crick

1 TS 20Bowd 35

Kornberg and Altman
% % ED{SQLE.JQ S0D0IL YT

Jacob and Monod
3. v @5 2080t 7SS

Gilbert and Tonegawa

4 = ARG S0BOI 65" T

Question Number : 116 Question Id : 7164471466 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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The space between the nucleolus and the nuclear envelope is filled by a transparent, semi-solid ground substance or
matrix known as:

AFAaITOR DBOID AFFE0NE IAGD D] ITP OGS, PA-FDE Tolk Dorgo T arsys To° Dol
E0L008. TP QT DEVJPW:

Options:
nucleolymph

1w Sr530rdod

nucleoplasm

I nggcﬁjﬂéﬂiaé

mucleolemma

3« nggcﬁjﬂejmé

muclear pore
4w 3006 F6

Question Number : 117 Question Id : 7164471467 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The 50S subunit of ribosome has two binding sites, . Tor t(RNA.
g5’ a0 aug), 508 65 ardes tRNA 6 Boch Bocof 26, DAoL,
Options:
AandP

1. v Aoboin P

Aand G
7 % Asnboin G

G and P
3 % Gaowbain P



AandT
4w Asobaio T

Question Number : 118 Question 1d : 7164471468 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The law of segregation is also known as:
DEE),00 Argo (B &D DAANR) D Qe Sre A DeLIEE:

Options:
law of dominance

1 = e B9 C,';“KD:}E}J (@&?&3@5 rargso)

law of independent assortment

7 g €59 QOC:D0Z085 FGIRV0ES (Do Sorfeny) rgo)

law of purity of gametes

3« e €35 @55&5 35 ﬁ“?fDESD(TT“ﬁ)ESD OT0E), DINS O30E), 207¢30)

law of pleiotropy

4 % OIS0 Argo

Question Number : 119 Question Id : 7164471469 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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Sickle cell anaemia is the result of expression of a gene.
85 285 DDA I 205D a0E), a?gggcsm oo,
Options:
dominant

1 = SIATeLL (=20R065)

recessive

Y @ m’ﬁ‘ﬁﬁ@



codominant

3 % Sdodod

quantitative

4 @ ?bﬁwea@@éé

Question Number : 120 Question Id : 7164471470 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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Patau's syndrome is also known as trisomy:

2P Doy B ) €39 &I €908,

Options:

Ln

18

3. ¢ 13

Question Number : 121 Question Id : 7164471471 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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mutations are also known as background mutations.
&0D0TFOD erfSF ok BfESNOY (eagaagaﬁm] €92) S esolIedd.

Options:
Induced

1. » 208



Spontaneous

9 HS?\]&S

Gametic

3 % Habe

Artificial
A x S8

Question Number : 122 Question Id : 7164471472 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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Svnapsis is initiated during the stage of prophase I of meiosis I.
DI (L0080 DSed) | oing) ToH(Fde3) | o), 65365° DTN FroodosercdBod.

Options:
leptotene

1 % 5@5935

zygotene
2. v 0O

pachytene

3w rOAS

diplotene

4 = [N

Question Number : 123 Question Id : 7164471473 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The hypothesis of coupling and repulsion was described byv:
gof) aBoID BHYN (DEGE) 0IE), DEELND (Arar@on) D00 Dododercod:

Options:



Bateson and Punnett

1 v E.'FEJDE} Fublalenth) ?.‘:gﬁleﬁ

Correns and Hugo de Vries

I« 5700y SO0 TR & DD

Morgan and Sturtevant

TR aB03D D0aR0td
3. % 7 92

Watson and Crick
4 % .:i“e.}QE} awbasin 35

Question Number : 124 Question Id : 7164471474 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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Blood is a special type of;
650 2,8 DAJE GEDOR:

Options:
epithelial tissue

1. % Q06D Seaarero

connective tissue

7 NOTrolS SeeEFvo

muscle tissue

3 % Soko Sceareo

nervous tissue

4. = Tc dmareo
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After the death of a person, the muscles become rigid; this is a physiological condition known as:

2.5 638 DOEs0 BTG, ST HEol aFMTra; A € G520 +004 E}ﬁ‘?g@:

Options:
muscle twitching

1. % Socore Ho¥oo

fatigue
7w e908)

rigor mortis

3 v DDOEIT DL

sumumation

Question Number : 126 Question Id : 7164471476 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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Cardiac output is measured as a product of the:
=001S 9D HD OB)OTT EenJed:

Options:
Heart rate * Stroke volume

TINGIOT N0 * SFS arePiaD
2 0 5 3

1. =

Heart beat = Stroke volume
266 25 x s TR

Heart rate * Blood pressure

G TTHOAD YOGS x ggereD



Heart beat = Blood pressure

4 = 9% 265 = GETFeD

Question Number : 127 Question Id : 7164471477 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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is the maximum volume of air that can be inhaled during maximum inspiratory cycle.
vy 5 = 5 oy .
(180 s 8o (Hao @33;}6&&5 235)S" DTy O o3ng) (87 DBOTE0

Options:
Tidal volume

1. » HES DOm0

Residual capacity

9w e9598 ) &mgéo

Inspiratory capacity

Folelx: (fa::mﬁeaﬁ} ﬂvmgﬁe

Vital capacity

A v Serd 5"5‘.‘13%0 (Dese5 Sarned)
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The Ornithine cycle was described by:
230) B 2386 DS DdBocsercod:

Options:
Hans Krebs and Kurt Henseleit

1 v 35y 55y Q0B £6 ?mébbeﬁ

Warburg

7w TN



Embden
Dmgé

Huxley

Foi=h
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The modern synthetic theory of evolution was described by:
DO AV, SEDAE VoGBS DLFoBo DB DddoeICod:

Options:
Lamarck

1. = uﬂmﬁb

Stebbins

2 o B

Correns

3. " gﬁfoc:]

Darwin

4 = 5:“5550
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evolution describes the evolution of a line of descent or a lineage.
oD G TT° H0BSaV0 GG, DOEFATIY 2000 w0006,

Options:
Phyletic

1. = DTAS



Geographical
7 % TOOE

Biological

3. v 85

Morphological

4. = Ejj“d;jﬂ“ﬁréfﬁ
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Habitat isolation is a isolating mechanism.
2BDETeS (Dard) DDTND e9od D00 DEHo.
Options:
zygotic
1. » B2O6OS
prezygotic

7 o OBHOS

postzygotic
3 ﬁﬁ% FHOS

mating
A = =otdoh
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Convergent evolution is a mechanism most commonly seen in organs.

830085 TN (e9D B DHBEFsVO) 9D £9:3000a70eS” PEEORoTE S0l 28 DEdo.

Options:



analogous

1. v edoorED

homologous

7% RS

rudimentary
3w a0y

vestigial

4 = 953 BaS el )
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The outermost extraembryonic membrane is the:
@903 eI0HED Qs:g&a@cﬁﬂ)é o
Options:
chorion
1. v Edobd

allantois

7 % @%}mmﬁ}

amnion

3« Ej'&‘l}laﬁé

volk sac

4 = cﬁreﬁb =5
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The stages of development between fertilisation and hatching are called:

DOBECER0 SOOI ST LS DD FOD Q" OLPH:

Options:
cleavage

1. « DEPH0(3DE)

embrvogenesis

2 i ﬁ? ﬂ]ﬂﬁf@b@

gastrulation

rwi&aejaé

neurulation

4' ® ﬂ)émfjaﬁ
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Resactisa amino acid peptide obtained from sea urchins, responsible for chemotaxis.
BOIrS €90 SATEFSYDLD SPEEDAD] DANGEY B\ ol Todd e920R) QIFRE DRE.

Options:
J"'ﬁ

1. = 12

14
3 v 14



15

A4 = 15
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Sweat glands are of type.

w0y Jodoen O50.
Options:
simple coiled tubular

1 v 20DE 5P eargenod

simple tubular

7 % 205€e5 aregeied

simple branched tubular

3 203D erod Larjenied

simple alveolar

4 % 205€e5 es®Brerd

Question Number : 137 Question Id : 7164471487 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Chondrocytes are situated in smooth walled spaces called:
ol Qo OB a0y few PBTwe” eotro:

Options:



lacunae

3 v @5}55

vacuoles

4 = 635en (oSS Sy)
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The delta cells of Islets of Langerhans produce:
o6y 0308, DTS B8, e Srren DB adD SJron:

Options:
insulin

1 % @:ﬁ)ﬁﬁ}é

glucagon

2, & (5T

somatostatin

g, TorYos

endorphins
JoEs 535 A
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Meissner's corpuscles are:
DO 6 0, Seaaanen:

Options:
l‘iIEDl‘ECEptDI‘S

1 = 5035“51:@“53



thermoreceptors

7w mﬁﬁéahgréb

tactile receptors

¢r3e) Baar6
3. v & & .:l'

bﬂl’Dl’E‘CEpthS
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Argentaffin cells are present in the mucosa of the:
A 308, Y0 (mj‘*@é"""n})eﬁé @Eoﬁf}mﬁjé SrPeD €0 000:

Options:
oesophagus

1 = P_‘)sﬁlan?mé

small intestine

large intestine

7 PR

stomach

4 % e%gv:aomo
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are commonly known as decomposers.
R0 FTPOe0TT 50226y 0.

Options:



Producers

Macroconsumers

2w mgé.g}n?smﬁ;}

Microconsumers

7 o @Ssgﬁéﬁjﬁb

Herbivores

4 " 3]“5&553
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The zone is an open water zone which allows effective light penetration.
DEPODOBRN 570 BET°D) RN HR wl LD ored &0,
Options:

littoral
1' % ‘E}Eés oed

profundal

2' ® @EJDC‘.,EE

benthic
3 % Bo5HS

limnetic

A v @Jﬁ)le.ﬁé
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CITES is the abbreviation for:

CITES &2 Dofasoes:
Options:
Convention on International Trade in Endangered Species

1 v SRR B30 Qo0 OGS BE AR Do) ?a;}ijﬁa

Convention on International Trade in Extinct Species

SRR 3R o8y DRHS BE AR Jégoeﬁ ﬁ):lfofo

Commission on International Trade in Endangered Species

7y SO 8D o8 HOS BE @D IDE0nG YD

Commission on International Trade in Extinct Species

£D000 B30 RoLT) 10T BE @D 305 0D
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The Nanda Devi Biosphere Reserve is situated in the state of:

ot D E,JCGJUEA:DD:&J& Ba6q & D‘*Q_ﬂf‘ﬁﬁ o

Options:
Assam

1 ® E‘_‘J‘b":)[]

Uttarakhand
7 o &GTDG

Meghalaya
3 % DoIrwod



West Bengal

4 ® ?;.}%}(:)6:1} Forred
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The two properties of sound are:
u:;’:S:.’J cfméb S0 e ErFe:

Options:
loudness and frequency

1 v 380 SOOIV ijﬂﬁ)z@.ﬁ5o

frequency and amplitude
7 % DPRIRDAL0 D0BATD SoDDVDODE

loudness and amplitude

3 x %‘Eﬁgo a0 0000003

frequency and duration

4 = @“éﬁ@aﬁén H0BaTL HDG
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The main primary lymphoid organs are the:
DD NS DoPond esdaidaren:

Options:
spleen and bone marrow

1 = 2IFAD SOBOIL JAWE S0@
* i EI

mucosal tissues and spleen

7 B2y, Sraareo SOBOID DD



bone marrow and thymus

3 v REebhit I}Jaﬁﬂ: 0803 Baed

lymph nodes and gut
A % FaO00 graayen odosw it (esogho)
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The common myeloid progenitor cell gives rise to:

Poroes e onE SrEDes6 e HDD DochEeod:

Options:
red blood cells

1. ¢« <608 Seren

lymphocytes
2 ® 'E}Oﬁﬁ:ngﬁb

NK cells
3 % NK Sren

memory cells

4. % D000 SrFen
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The response time for the innate immune system to function in the body is:
#0005 Dira LS BrDEGE DR DABODE=IS HADY0OD DaODO:

Options:
seconds/minutes

1 o P80/ Ddwared



minutes/hours

2 % Ddwaren/ fotrn

days/months

3 x Bewen/Doen
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The graft-versus-host-reaction is evaluated by calculating the:
g{g—ﬁﬁfu—;ﬁ@—&oﬁrﬁ% Qb TE) 030 TPYD LIODRT® DOTENDBO0E:

Options:
somatic index

1 = FaoedS 05y

gonosomatic index
7« A0S @ot sy

spleen index

3' o iﬁ%ﬁ ‘E’DEED

bone marrow index

4 x £5°S a8 Q0E 5y
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Rheumatoid arthritis is an example of:

DEEFONE e0BAD O &Tsrore:

Options:



autoimmune disorder

1 v e565° QgD Cargh

cell-mediated toxicity

I« 265-D0AGHBE &Pé;}ﬁaéfj

allergy
3. = E’DQ

transplantation

4. = EflJ“ElD(i



